4 fn b HFOE

(H) 4%n 54 4H 1H () 4% 64 38318

B ae X TFTHERANRZEK

HEEUEN  HHDEHER



g & I X F H A R K

(B) 4F1 5% 48 18

(E) 4f 64 3A31H

HEBUHEAN HZHOLBiE

HEEHNEEZEXSY
(E{T: M)
B E ® B & & AEHLE K 5 BHS < RERILARS
HFEEERA 234, 000, 000 ( 234, 000, 000 )
EEEIA 205, 000, 000 205, 000, 000
FI A EEF FAEHRA (—i%) 10, 000, 000 10, 000, 000
F DfhDEZEIA 19, 000, 000 19, 000, 000
fHBEEENA(AE) 18, 000, 000 18, 000, 000
FIBIE&F A (—HR) 1, 000, 000 1, 000, 000
fEAEF|ERBH XA 121, 000 ( 121,000 )
ENEF| BB I 121, 000 121, 000
FZEH| S B Y AT A 2, 000 1,000 )|( 1,000 )
ZHRF|EERY &R A 2, 000 1, 000 1, 000
Z DDA 3, 430, 000 ( 3,430,000 )
ZAPHER A 30, 000 30, 000
FRAESNEREBEIRA 2, 300, 000 2, 300, 000
M 1, 100, 000 1, 100, 000
FEEHIAG L) 237, 553, 000 1,000 237, 552, 000
ANFEH 169, 400, 000 ( 169, 400, 000 )
BEARIZH 62, 100, 000 62, 100, 000
BRESXH 23, 000, 000 23, 000, 000
FEEBMEIE S 53, 500, 000 53, 500, 000
VRY A=k dan 5, 700, 000 5, 700, 000
JRRRAA TS 4, 100, 000 4, 100, 000
EERAEXH 21, 000, 000 21, 000, 000
BEHETH 29, 650, 000 ( 29, 650, 000 )
RREXH 16, 000, 000 16, 000, 000
PREFmEE W 2, 000, 000 2, 000, 000
REMEERH 4, 000, 000 4, 000, 000
AGE e EER X H 4, 800, 000 4, 800, 000
HFEESEHLE 2, 000, 000 2, 000, 000
REREI S H 150, 000 150, 000
=Xyl 650, 000 650, 000
HEH 50, 000 50, 000
EEEXH 32, 511, 000 391,000 )|[( 32,120,000 )
EHEARETH 1, 000, 000 1, 000, 000
BEHREXH 50, 000 50, 000
RERBEEXN 70, 000 20, 000 50, 000
THEMFEE X 500, 000 500, 000
BEEHEELEI T 700, 000 700, 000
R B A 3T Y 300, 000 300, 000
Rk 30, 000 30, 000
EEEH 1, 300, 000 1, 300, 000
BEEREXH 470, 000 20, 000 450, 000
SEEIN 200, 000 150, 000 50, 000
REE S 200, 000 200, 000
BT EIH 22, 000, 000 22, 000, 000
FEepH 331, 000 1, 000 330, 000
fRBEB 500, 000 500, 000
EERSH 1, 700, 000 1, 700, 000
Tt - B E R S 1, 500, 000 1, 500, 000
BBARZH 10, 000 10, 000
RSFREH 1, 000, 000 1, 000, 000
B &N 50, 000 50, 000
EX3-pdn] 350, 000 350, 000
HE37 250, 000 200, 000 50, 000
XHFIEXH 121, 000 ( 121,000 )
FTHFEXZH 121, 000 121, 000
FofhoxzH 3, 100, 000 ( 3,100, 000 )
FIREBSENGRESH 3, 100, 000 3, 100, 000
HEEHMXHE () 234, 782, 000 391, 000 234, 391, 000
HEENG LN T @) = (1)-(2) 2,771, 000 390, 000 3, 161, 000




B E & H & & AEHLERESY a3 < R EMHLAE S
I | HMEsREERERBISNA 3,821,000 ) ( 3,821,000 )
¥ AR F B EA 300, 000 300, 000
= BIEESEASTEEEREERA 3, 521, 000 3, 521, 000
B®
L —
s TR el = AT (4) 3,821, 000 0 3, 821, 000
E BiEREEAETEEEH 3,660, 000 ) ( 3,660,000 )
Py REESHEAETLSEETH 3, 660, 000 3, 660, 000
I EEEEREXH 2, 000, 000 ) ( 2, 000, 000 )
% BEERWMELREXH 2, 000, 000 2, 000, 000
MR EEE I HE (5) 5, 660, 000 0 5, 660, 000
MRS TSI =5 (6) = (4)-(5) A1, 839, 000 0 Al, 839, 000
Z |1
]
it
2IA
g Z DO TEBI AT (7) 0 0 0
X
X
3
W { s
b3 Z DM OEBI X HE (8) 0 0 0
Z DL OTEN 7 Al 2 (9) = (1)-(8) 0 0 0
Pl E 3 (10) 0 0 0
BB SN X 2B LD=(3)+(6)+(9)_(10) 932, 000 /7390, 000 1, 322, 000
B A Z FAva g (12) 44, 233, 354 22. 306, 126 21, 927, 228
LR it m (L) +(12) 45, 165, 354 21,916, 126 23, 249, 228




